Review 1

Class Objective: | will be able to recall the chapters which were taken previously.

Concept A: ~0t/0{ ==Ct / ~0HO E2| Lt (to give OR to do something as a favor)
* -0HO Z=CHEZZ2ICH is used when the speaker or the subject of the sentence
performs an action that assists the listener or another person.
% When the assistance has already been completed, -0t/ THX or -O0HO
R is used.
Younger person gives to a friend or someone younger [~0t/0 ==Ci]:
Me & eHH #Hs T K.

Younger person gives to an elder or someone older [~0t/0{ E2|C}] :

Older person gives to someone older; but the action is narrated by someone younger
[~OHO S22l AICH :

Ot Xl= 2O0tHXIH HE =20 K.

When to use ~0} =C}HEZ2|Ct vs ~0f =CHEZIL}:

1. ~OH(R)is used when the word stem ends in | or L
a. is added when the word stem ends in a consonant.

L+ 0t > 2H0lR
g&Ct > 20t
a0 ->40tR
b. If the word stem ends in the vowel | ; one | is deleted.

+.4 > IlIe

JtC
AHChH-> Xt 2

['D

FLECH > BHLER
c. Ifthe word stem ends in a vowel, the following contraction can also occur.
QU +0IR >2%AR (2+ | +2 - 24RK)
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